
Time: 30 Minutes Paper Math 8 (T-1) Total Marks: 25

3rd Month, 3rd Week, 6th Day Exercise:

 Choose the correct Options (1 ×13 = 13) 
(ii) What is the nth term in an = n + 2 arithmetic sequence?





 an = m + 2

(a) 1, 2, 3 ..... (b) 2, 3, 4..... (c) 3, 4, 5 ..... (d) 4, 5, 6.....

(i) What is the next two term 2, 8, 14_____ n arithmetic sequence.

 2 




 2, 8, 14

(a) 14, 16 (b) 20, 26 (c) 20, 24 (d) 27, 31

(ii) Find the value in next two terms 1, 5, 9 _____ in arithmetic






 1, 5, 9 ______

(a) 12, 14 (b) 11, 14 (c) 13, 17 (d) 17, 19

(iii) What is the general term in 4, 9, 14, 19 arithmetic sequence?





 4,9,14,19

(a) 7n–3 (b) 6n–2 (c) 8n–4 (d) 5n–1

(iv) What is the next number in sequence? 28, 24, 20, 16, _____, _____.


(a) 12,8 (b) 16, 12 (c) 8, 4 (d) 20, 8

(v) What is the general term in 6, 13, 20, 27 arithmetic sequence?






 6, 13, 20, 27

(a) 7n–1 (b) 6n–2 (c) 5n–3 (d) 4n–5

(vi) What is the next number in 1, 2, 4, 7, ___, ___ 22 in the sequence?


(a) 9, 9 (b) 11, 16 (c) 9, 15 (d) 11, 14

(vii)  Which number comes next in the sequence 5,10,15,20,_________?

 20,15,10,5

(a) 25 (b) 30 (c) 35 (d) 40

(viii)What is the nth term an = 4n-3 in arithmetic sequence?






 an=4n–3

(a) 1, 5, 9, ..... (b) 2, 4, 6, ..... (c) 3, 6, 9, ..... (d) 4, 8, 12, .....

(ix) What is the next number in the sequence 2,5,10,17,_______?

 17,10,5,2

(a) 24 (b) 26 (c) 27 (d) 32

(x) Which numbers comes next in the sequence 1,1,2,3,5,8,_______?

 8,5,3,2,1,1

(a) 10 (b) 11 (c) 12 (d) 13

(xi) In arithmetic sequence we show difference by:






(a) a (b) n (c) d (d) all

(xii) What is the next number in the sequence 2,4,6,8________?

 8,6,4,2

(a) 10 (b) 9 (c) 11 (d) 12

(xiii)Find the next two terms by term to term rule 1,5,9:

 9,5,1 
(a) 13,14 (b) 13,15 (c) 13,15 (d) 13,17

 Answer the following questions: (2 × 4 = 8)  
1  Identify te pattern and complete the sequence. 
1. 77, 66, 55, ___, 33, 22, ___. 2. 50, 100, 150, ___, 250,  ___, 350___.

2 Which of the following sequences are geometric? If a sequence is

geometric, then find the common ratio:


(i)     6, 18, 24, .....     (ii)     1, 1, 0, 1, .....

3. Find the arithmetic sequence in each: 




(i) an = 2n–5          (ii) an = 3n–1

4. Which term of the arithmetic sequence 2, 5, 8, ..... is 62?





 2, 5, 8, ..... 62

Q.3. Find the indicated term of the arithmetic sequence: (4)







(i) a = 5, d = 5, a10 =?    (ii) a = 9, d = 2, a15 =?
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